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| PART A: Vocabulary

1

‘ Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each
| sentence. Then mark the correct choice on your answer sheet.

The book was ----———- by a panel of experts, working in conjunction with the publisher.
1) revealed ~ 2) compiled 3) intervened 4) attributed

In Capnada, drug users belong to high-risk insurance --——------ ; |

1) entities 2) features 3) categories 4) structures

The victim was able to give the police an ----——---- description of her attacker.

1) accurate - 2) ultimate 3) 1dentical 4) equivalent

The government passed a law to promote the --- of blacks into white South African .
society. ;

1) integration 2) foundation ' 3) coordination 4) adaptation
Small businesses often have great difficulty in — credit from banks.

1) detecting 2) obtaining 3) pursuing - ~ 4) depositing
Feminists say that the book was written from a male ——--—-.

1) objective 2) inspection -3) perspective 4) presumption
Violence is just one of the many problems in city life. '

1) explicit 2) empirical 3) available 4) inherent
Legal requirements state that working hours must not - 42 hours a week.

1) assign - 2) exceed 3) utilize 4) undertake

The Highways Department is responsible for the construction and -—-——- of bridges and
roads. |

1) equipment 2) adjustment 3) manipulation 4) maintenance

10- Maxwell’s responsibilities -— yours, so you will be sharing some of the work.
1) overlap 2) affect 3) identify ' 4).coincide

| PART B: Grammar

Directions: Read the following passage and decide which choice (1), (2), (3), or (4)
best fits each space. Then mark the correct choice on your answer sheet.

Since water is the basis of life, (11) ---------- the greater part of the tissues of all living things, the
crucial problem of desert animals is to survive in a world (12) ---------- sources of flowing water are
rare. And since man’s inexorable necessity (13) -----=-me- large quantities of water at frequent
intervals, (14) --------- - comprehend that many creatures of the desert pass their entire lives (15) ----
------ a single drop.

11- 1) composes 2) composing 3) it composes 4) that composing

12- 1) which 2) that 3) there 4) where *

13- 1)1s to absorb 2) of absorbing - 3) that is to absorb 4) is absorbing

14- 1)scarcelyhecan  2) he scarce can 3) he can scarcely 4) scarce can he

15- 1)for 2) from ! 3) upon | 4) without



i Part C. Reding Cmprehensi{m

.= mark it on yﬂur answer sheet.

PASSAGE 1:

We can define ‘sensor’ as a device that converts a physical stimulus or input into a readable
output, which today would preferably be electronic, but which can also be communicated via other
means, such as visual and acoustic. As perhaps the simplest example, consider a keyboard switch-
which provides a signal when the associated key is pressed. The keyboard switch has several
desirable features as a sensor. It is inexpensive, it has a high signal-tanoise ratio (its on/off
impedance ratio), it is compact, and it has low power consumption. Its reliability and ability to
operate over a wide range of environmental conditions are also exemplary.

Unlike most sensors, a keyboard switch lacks an analog input range, and its output is binary.
Temperature, pressure, and flow sensors are more typical examples. In these cases, the output is not
a binary quantity but a value that 1s sensitive to a range of those physical conditions. We can take an
example of a state-of-the-art sensor, in this case, a mass flow sensor. As evidenced by this example,

many advanced sensors today are microstructure devices that leverage the economies of scale and
the fabrication technologies of semiconductor manufacturing.

J16- The word “which” in the first sentence refers to ------—- -
1) input 2) device 3) readable output 4) physical stimulus
17- According to paragraph one, the output can ---——---- .
1) be visual 2) be acoustistic 3) be electronic 4) have different forms
18- In the example of the keyboard, the input is —-----—-,
1) digital 2) electric 3) electronic 4) mechanical
19- The phrase “state-of-the-art” in paragraph two is closest in meaning to —----—--,
1) the fabrication technology | 2) the highest scale of economy
3) the best physical condition 4) the highest level of development
20- The term “fabrication” in the last sentence is closest in meaning to —-—-——-.
1) manufacture . 2) leverage 3) structure 4) evidence
PASSAGE2:

The dynamic characteristics of most control systems are not constant for several reasons, such as
the deterioration of components as time elapses or the changes in parameters and environment.
Although the effects of small changes on the dynamic characteristics are attenuated in a feedback
control system, 1f changes in the system parameters and environment are significant, a satisfactory
system must have the ability of adaptation. Adaptation implies the ability to self-adjust or self-
modify in accordance with unpredictable changes in conditions of environment or structure. The
control system having a candid ability of adaptation (that is, the control system itself detects
changes in the plant parameters and makes necessary adjustments to the controller parameters in
order to maintain an optimal performance) is called the adaptive control system.

21- From the text, it can be understood that changes in parameters, environment and

characteristics of components as time elapses can bring about in the dynamic
characteristics of a control system.

1) perpetuation 2) fluctuation 3) inconstancy 4) indefinetness
22- According to the text, “as time elapses” in this context means as time
1) slips away 2) leaps over 3) terminatcs 4) flows
23- From the text, it can be understood that the effects of small changes on dynamic
characteristics are said to -—------- in the feedback control system.
1) hinder 2) weaken 3) disappear 4) impede
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From the text, it is understood that a satisfactory system is very likely to have the capability of
—---—---- if the changes in its parameters and environment are significant.

1) adoption 2) regulation 3) predictability 4) adaptation

From the text, it is implied that the purpose of the self adjustment and self modification in the
controller parameters is to —-.

1) make necessary adjustments 2} achieve an adaptive control system

3) maintain an optimal performance 4) detect changes in the plant parameters
PASSAGE3:

Many apparently open-loop control systems can be converted into closed-loop control systems if
a human operator is considered a controller, comparing the input and output and making the
corrective action based on the resulting difference or error.

If we attempt to analyze such human-operated closed-loop control systems, we encounter the
difficult problem of writing equations that describe the behavior of a human being. One of the many
complicating factors in this case is the learning ability of the human operator. As the operator gains
more experience, he or.she will become a better controller, and this must be taken into consideration
in analyzing such a system. Control systems having an ability to learn are called learning control

systems. Recent advances in adaptive and learning control applications are available in the
literature.

From the text, it is implied that human-operated closed-loop control systems are very
complicated to be described in mathematical equations because of the ——---—-— capacity the
human operator possesses.

#) learning 2) behavior 3) complicating 4) analyzing
According to the text, the underlined word this refers to -———-,

1) gaining more experience 2) gaining more control

%) becoming a good operator 4) being human operator

PASSAGE 4:

In an adaptive control system, the dynamic characteristics must be identified at all times so that
the controller parameters can be adjusted in order to maintain optimal performance. (Thus, an
adaptive control system is a nonstationary system.) the concept of adaptive control has a great deal
of appeal to the system designer since an adaptive control system, besides accommodating
environmental changes, will also accommodate moderate engineering design errors or uncertainties

and will compensate for the failure of minor system components, thereby increasing overall system
reliability.

From the text, it can be inferred that the adjustment to maintain optimal performance lies to
a great extent on the constant - of the dynamic characteristics of the controller

parameters.

1) identification 2) supervision 3) adaptation 4) requirement
The underlined word appeal in this context is closest in meaning to —

1) adaptation 2) connection 3) aftraction 4) perfection

According to the text, the underlined phrase compensate for in this context is closest in
meaning to -------—-,

1) set up 2) make up 3) outweigh 4) compromise
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